Math 152, Spring 2009, Formula Sheet for Exam 1

sin(0) =0; sin(r/6) =1/2;  sin(r/4) =v2/2; sin(n/3) =+3/2; sin(n/2) =1
cos(0) =1; cos(m/6) =+/3/2; cos(n/4) =+/2/2; cos(n/3)=1/2;  cos(m/2) =0
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cosz+sinz=1; 1+tan?z=sec?z; 1+4cot’zx=csc’z

sin(2z) = 2sinzcosz ; cos(2r) = cos® x — sin® x
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cos’z = = (1 +cos(22)) ; sin®z = %(1 — cos(2z))
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sin A cos B = —[sin(A — B) + sin(A + B)]
sin Asin B = —[cos(A — B) — cos(A + B)]

cos Acos B = —[cos(A — B) + cos(A + B)]
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/sec:r:d:v =In|secx +tanz|+ C ; /csca:dx =In|cscx —cotz| + C

If T, My, Sy are the Trapezoidal, Midpoint and Simpson’s approximations, then

Ty = 521 (o) +27(m) + 2(2) + -+ 2f (e —2) + 2 (wna) + flow)]
My = Az[f(c1) + f(c2) + -+ - + f(en)] where ¢; = (xj—1 +x5)/2 ;
S = S 1 (0) 45 (er) + 2 (22) + 47 (@) + -+ 2f (o) + 4 (e o1) + flaw)]

If I = fab f(x) dx then:
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